

$$\rho(x'x'')$$

Quantized,

$$\psi^\dagger \psi(x') =$$

number

$$a_m^\dagger a_n$$

$$= \begin{pmatrix} 0 & 0 \\ 1 & 0 \end{pmatrix}_m \begin{pmatrix} 0 & 0 \\ 0 & 0 \end{pmatrix}_n$$

$2_m(9)$ operators

$$L_m = \pi(4-2N)(2N-m-1)$$

$$S_1, S_2, S_3$$

$$\begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix} \begin{pmatrix} 0 & i \\ -i & 0 \end{pmatrix} (1+1)$$

$$S_1 + iS_2$$

$$\begin{pmatrix} -1 & 0 \\ 0 & 1 \end{pmatrix} \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix}$$

πS

$$a_n' = \frac{1}{2}(S_1 - iS_2)$$

$$a_n'^\dagger = \frac{1}{2}(S_1 + iS_2)$$

$$a_m^\dagger a_n = \frac{1}{2}(S_1^{(m)} + iS_2^{(m)})$$

$$a_n = \prod_{m=1}^{n-1} S_{\frac{m}{2}} \cdot \frac{1}{2}(S_1 - iS_2)$$

$$\prod_{k=2m}^{n-1} S_{\frac{k}{2}} \cdot \frac{1}{2}(S_1 - iS_2)$$

$$a_n^\dagger = \frac{1}{2}(S_1 + iS_2) \cdot \prod_{m=1}^{n-1} S_{\frac{m}{2}}$$

$$P_{mn} = a_n^\dagger a_m = \frac{1}{2} (S_1 - iS_2^{(n)})$$

$$\times \prod_{k=m}^{n-1} S_3^{(k)} \cdot \frac{1}{2} (S_1 + iS_2^{(n)})$$

$$= -\frac{1}{2} (S_1 - iS_2^{(n)}) \frac{1}{2} (S_1 + iS_2^{(n)})$$

$$\times \prod_{k=m}^{n-1} S_3^{(k)}$$

$$= -\frac{1}{4} (S_1^{(m)} S_1^{(n)} + S_2^{(m)} S_2^{(n)}) \prod_{k=m}^{n-1} S_3^{(k)}$$

$$a_n a_n^\dagger = \frac{1}{2} (1 + S_3^{(n)})$$

$$P_{nm} = a_n^\dagger a_n = \frac{1}{4} (S_1^{(m)} S_1^{(n)} + S_2^{(m)} S_2^{(n)}) \prod_{k=m}^{n-1} S_3^{(k)}$$

$$\rho_{nm}^{(S)} = \frac{1}{2} (a_n^\dagger a_n - a_n a_n^\dagger)$$

$$= \frac{1}{4} (S_1^{(m)} S_1^{(n)} + S_2^{(m)} S_2^{(n)}) \prod_{k=m}^{n-1} S_3^{(k)}$$

$$a_n a_n^\dagger = \frac{1}{2} (1 - S_3^{(n)})$$

$$\rho_{nm}^{(S)} = \frac{1}{4} (S_1^{(m)} S_1^{(n)} - S_2^{(m)} S_2^{(n)}) \prod_{k=m}^{n-1} S_3^{(k)}$$

$$\left(\begin{array}{c} \vdots \\ \vdots \\ \vdots \end{array} \right)$$

$$S_1 = \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix}$$

©2022 YHAL, YITP, Kyoto University
京都大学基礎物理学研究所 湯川記念館史料室

$$S_2 = \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix}$$

$$S_3 = \begin{pmatrix} -1 & 0 \\ 0 & 1 \end{pmatrix}$$

$$\frac{1}{4} S_3^{(1)} \frac{S_1^{(1)} S_1^{(2)} S_2^{(1)} S_2^{(2)}}{4} S_3^{(1)}$$

$$-1 S_3^{(2)}$$

$$\begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix}$$

$$\frac{S_1^{(1)} S_2^{(1)} S_3^{(1)} S_1^{(2)} S_2^{(2)} S_3^{(2)}}{4} S_3^{(1)}$$

$$S_3^{(n)}$$

$$D(Q \cdot p^{(s)})$$

$D(p^{(s)})$ = total
number of
electrons or
total charge
elec(-e)

$$N p^{(s)} \neq 0$$

$$H_{11} S_3^{(1)} + H_{12} \frac{S_1^{(1)} S_1^{(2)} S_2^{(1)} S_2^{(2)}}{4} S_3^{(1)}$$

$$- H_{13} \dots \neq 0$$

total number of ~~but finite number of~~
 all the negative energy state is
 occupied and the finite number of
 positive energy state is occupied.

$D(\rho^{(S)})$ = number of pos.
 energy state occupied

— negative energy state un-
 occupied.

(1) one electron problem (in the state 1.)

(1) $S_3^{(1)}(1, 0; 0, 1)$

(1, 0)

$$S_3^{(1)} = \frac{S_1^{(1)} S_1^{(1)} + S_2^{(1)} S_2^{(1)}}{4} S_3^{(1)}$$

$$= \begin{pmatrix} 1 & -1 \\ -1 & 1 \end{pmatrix} \begin{pmatrix} \frac{1}{4} & \frac{1}{4} \\ \frac{1}{4} & \frac{1}{4} \end{pmatrix}$$

$$\begin{pmatrix} \frac{1}{2} - \frac{1}{2} & \frac{1}{2} \\ \frac{1}{2} & \frac{1}{2} \end{pmatrix}$$

$$a_n, a_m,$$

(i) (ii) (iii)
 S_1, S_2, S_3
 so is linear combination
 4 element $\times 3$ matrix,
 $\times$ multiplication "

Quasi multiplication
 を採用,

$$\begin{pmatrix} 1+S_3 & & & \\ & \ddots & & \\ & & \ddots & \\ & & & \ddots \end{pmatrix}$$

$$\frac{1}{2}(1+1+0)$$

$$\frac{1}{2}(1+S_3)$$

$$\frac{1}{2}(1-S_3)$$

$$\frac{a_{mn} a_{nk} + a_{mn} a_{nk}}{2}$$

$$(a_1 a_1^\dagger) \times (a_1 a_2 \dots)$$

$$= \frac{a_1^\dagger a_1 + a_1 a_1^\dagger}{2}$$

$$a_m^\dagger a_n + a_n a_m^\dagger$$

©2022 YHAL, YITP, Kyoto University

京都大学基礎物理学研究所 湯川記念館史料室

$$C_{mn} = a_m^\dagger a_n - a_n a_m^\dagger$$

$$C_{nm} = a_n^\dagger a_m - a_m a_n^\dagger$$

$$C_{nm} = C_{mn}$$

$$C_{kl} C_{mn} - C_{mn} C_{kl} = a_m^\dagger a_n a_k^\dagger a_l - a_k^\dagger a_l a_m^\dagger a_n$$

$$= a_m^\dagger \delta_{kn} a_l^\dagger + a_m^\dagger a_k^\dagger a_l a_n - a_k^\dagger a_l a_m^\dagger a_n$$

$$= a_m^\dagger a_l^\dagger \delta_{kn} + a_m^\dagger a_k^\dagger a_l a_n - a_k^\dagger a_l a_m^\dagger a_n$$

$$C_{kl} C_{mn} - C_{mn} C_{kl} = a_m^\dagger a_n + a_k^\dagger a_l$$

$$C_{km} + C_{nl} \delta_{kn}$$

$$k=n, \quad C_{kl} C_{ek} - C_{ek} C_{kl} = 2C_{kk} + C_{el}$$

$$k \neq l$$

1 2 3 4

(241)

(412)

$$C_{12} C_{34} \rightarrow 21, 43$$

$$C_{34} C_{12} \rightarrow 21, 43$$

$$C_{12} C_{24} \rightarrow (1432)$$

$$(2431)$$

$$C_{24} C_{12} \rightarrow (2134)$$

$$(4132)$$